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103 F MM ERBMARLE Rk EFRAHK

#AM etk E #8  ARYIREH
P~ w38 (100 &)
— P HENARA G AR RREEA > TERERBEARSE KR RFIZ 10 AFH
BEREAF T (PR B REHERHLE0MEH  HBEYERRLH)
(1) A2 41 4% i A AR % 4% & 48 40,000,000 7T - =3 X JEA 73 44 20,000,000 7T+ =3 X JEAR
P44 5,250,000 7T °
(2) A7 P9 44 = 56 K 4447 1B = 800,000 » 4595473 500,000 T -
(3) % AHAFE X & B 5 =B K AR 45 & 452 1,050,000 7T AHR 3 E w R SR IRE Gk Bt
A 2,000,000 T(FZHREF) HER A M fJ~m$T4EI/\I%ﬁ,L._ﬂwfa%§$ 840,000 7T
(4) A4 i v J]BAR 4 10,000,000 7T 0 B P EARHEE 50,000,000 7T 0 AHAE P iR
1,000,000 7T » #73E 500,000 7T o
A FAT TR EIAZ R
DIF =X Z 0 EH 1,000,000 T~ A8 E 800,000 T #4% 2 4% 5% % 200,000 T &
B N R A B 3% i 2,000,000 7T e
QFIF I XA Z 1 CAA & 157,500 T @ B T Z4RBERE 47250 T xBSH L&
300,000 7T~ AR 452 X B % 1,050,000 T &8 E A % E 1,500,000 T oo
(B AR B A 1B (8 £ m) 1 R R E B 500,000 7T KE F 400,000 T~ BN EEE
300,000 7T
147 G 3ARER 500,000 7T ©
(—T%’rﬁ.-i\ﬁf] W IRE E AR ESRJER AR - (20 5)
OREAPFTREERE 28 - (52)
()
1. RIS RE=
(2,000 E+(525 E/1.05)-80 E-50 E+(105 B/1.05)+200 E+(84 E/1.05) ) x0.05=1,375,000
2. EIETRRE=
(1,000 E+5,000 E-100 E-50 E+100 E+80 E+200 E+(157,500/1.05)+ (47,250/1.05)+ 50 E+40
B30 8 ) x0.05=3,184,750
3. B FR%E =50 B+3,184,750-1,375,000 = 2,309,750
SEFR IR = (4,000 B % 0.05)+ (200 B % 0.05)=210 =
FEIRMRZE=210 BT
ERIEFREE =2,309,750-210 B =209,750 7T
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QDR
TRIBMIEE 1,375,000
fERMIEE 2,100,000
EIBMREE 3,184,750
BIEREE 290,250

= PR TR E) 103 S5 4o 3R 3R-E E A4 & 48 85,000,000 7T 0 103 SR E AR B
R FEWTF
(1) 47 TR 5T 2k 2,000,000 7T+ H7R T 2k 3,000,000 7T °
(2) A7 FE ik A B s 80 Z 4 %0 3,500,000 7T 0 k27 A A 3R i B B 2 438 1,500,000 7T
(3) A 42 U B 45 4 %8 800,000 7T -
AIRB EMFA &4 LB Z 4% 1,200,000 T -
G) & B 2 F & 4% 1,600,000 7T 0 & T R R4 FE 400,000 T
6) B 1z 36475 B 248 F £ % 1,200,000 7T -
7)4&1& % B A5 2 4% 700,000 T oo
(8) AL & A (F] JE & E 4 A )400,000 7T o
(D48 & A (F] FE & £ A )600,000 7T e
RAK ¢
OF AR FRELAETREERANLAZLA? (205)
OAMERBEZLBERWTRE? (55)
(5 )
8,500 E+200 E-300 E+350 E-150 B+80 E-120 E-160 E-40 =-120 =
270 E-40 E-60 = =8,070 BT
O RAEESERETABEINARLE

CARBENGEGA104 F1 Al BRE ERAEEELEZING  EREEEDLMERER
5o 237 104 S P FEFIFRZTFRERZAT 0 104 SRR S THHHe T

) & & £ HFTFF 4,000,000 7Tk £ 3IE A 800,000 T) -

2) % & k7 3] Bk 2 743 1,000,000 7T e

(3) % % 75 B 44 £ 7 5% BT4%F 20,000,000 7T -

(A AR BN ) $HAE B 2 70 L3k = SRR B FAE 0 104 SRR AR P ARE B M Ak o
% 3,000,000 7T o gugh - AR FE N E) B AT 104 FEERIIFERERER T LRZ 28R
% 500,000 7T o B B3l —FAE b0 104 £ Z B B R FARRER T ZEZFR &
BN 8] SR AE R AR E R AT A SR AT @ A8 1 3,000,000 T e
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O HAEE N 104 FEEM A FETIFREE - (6 5)

OMRFAFAIE S 66 162 6 BT » 3HARE A 10547 A 1 A 2 RA I (I A0
& Atk AAGTEZBEAT HwwiiBak) o (12 %)

CHEBEAG A 105 F7 A 1 B AR ERKRER » #5030 F 5 £+ 10,000,000 T - 1%
BREEANARTA S RVERBEENEEL - A A5 NAHE 20% o B F R TEfE
£ A PTAT 3 R AB AL & PTAT MR RIEZ A F B 40% - 3+ o018 B B o s Al ir
15 ERBRT IR AR  FT SIS BALE ST IERZ L5 - (T5)

[ 5 ]
)
—RPTEHRZE = (2,000 E+300 B+50 B) x 17%= 3,995,000
EARREE = (2,350 B+100 B-50 &) x 12%=2,880,000
MEEUK - EFNEFTRAS 3,995,000 7T
)
SEHRBIFTIE =400 E+100 E+2,000 & =2,500 =
FTEMRE =2,500 Bx 17%=425 8
TRZEHNIKEL IR =425 B/(2,500 E-425 B)=0.2048
&)
T HIEFREE = 1000 B x 0.2048 x 50% = 1,024,000
I #RETRR = (1,000 E+1,024,000) x 40% ] -1,024,000= 3,385,600

w9 SR IEAET DE AR A E] SR 0 103 S E PR AR T

Wik BB EELEEZR > £ - TRAEBRMIY KRG TOR > RAKELLH - kA
89 A 103 SF B F% 70 R 0 BPTHF - AR S FEBR T o

@3k A B F A% R A 8 AT A 5,200,000 7T A B A RE 720,000 7T o

35k %k & &N 8) AT R A IR SR AR TR A2 BE 7 300,000 T -

() 5k 7y JE 0% 3] A 05 K BRI AL S8 0 & 3 B AR IRGET B 3 &1 & 900,000 T -

(5) 7k 7y B & X FEAARAS B dkN 80,000 7T o

OFRAEEEREERFRTRE AR TR 6,000 T -

DIEN R TFORFEEBR T/ A 103 AR LR THLEE L2 EHEW
170,000 ;T4 5k 7 86 B & B 444 -

®FENEEE R E—FHWE  HE LI FE 1,000,000 T Sinrh Bz £ HIG G
#2 100,000 7T B AFAE T M B AR 750,000 7T 5 $E B B IR 8k 800,000 7T 0 Ein ik BT
B Z AR ] 4 R 600,000 T e

97k 77 h & £ 8 iR Z 843 1,000,000 T 0 % E A G & B 10 4 o 32 & NME AL

'
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Fif#% 500,000 7T » E.3m4k 50,000 7T
05k 7408 4% > B B A X & 420,000 T -
D3k J7 B 4RATARIA 2L 69 F) 8 AT 260,000 7T °
EE
103 S5 46 PTIFM RAEE « 1R EI0IR 8 « A PTAFR AR F SRR R dn ik AR
RMBIE LR T -
L %M FAHEF (FR) 85000 T -
2 AR qn R R VR RAFAMB AR 79,000 7T -
3. A PTAFHA A RER - B AL F IR B FR A 108,000 7T 25 R -
4. 5 SEHRAF H Ao IR R 1 AEAAF4u i 108,000 T o
S U A PTIF MR M A IE R RERFE ¢

4 3 % g (Bfa: #HEHT)
1 5% 0-520,000
2 12% 520,001-1,170,000
3 20% 1,170,001-2,350,000
4 30% 2,350,001-4,400,000
5 40% 4,400,001 ¥4 £
6. FITEBEEMIDE : RS  BRERBUIAR 30% -

Ei\‘/ﬁ .

O H 3R A 103 FEazop 7458 - (12 5)

Ot HEEAN 103 FELEEGIFFE (RERIECHERRAHNZFTHREX) (8 2)
G AR 103 FE EMmMmE - (5 o)

[ 55 ]

()
LEEHIE: 520 8B+2 830 =622 &
2HERZFE: 808
INTHE: 268
4AFEPTISHRE: 622 B+80 E+26 =728 BT

O
1. BFR%E: 85,000%3.5=297,500
2. 5V BHAIBRRE: BEMEESZH 12 B <tZHEHIFREE 158,000

>R EHPRERER
JIEBPTEISRE: 728 E-(297,500+158,000+108,000+108,000+260,000)
=6,348,500 7T
() 6,348,500 x 40%-805,000 = 1,734,400 TT,
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